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QUESTION 1

You administer an Oracle Solaris 11 system that uses a user-defined Network Configuration Profile (NCP). You now
need to modify the DNS name servers. Select the profile type that you will need to modify.

A. Automatic-NCP
B. Location profile
C. Network Configuration Unit
D. External Network Modifiers

Correct Answer: A

QUESTION 2

Consider the following ZFS configuration:

You have created snapshots of the homo directories which are as follows:

You have another storage pool named bpool on the same system. You use the following command to store the
snapshots in this pool:

# zfs send rpool/export/home@11.28.12 | zfs recv f bpool@11.28.12

What will be created in the pool bpool as a result of this operation?

A. bpool/export/home/ bpool/export/home/curly

B. bpool/export/home/ bpool/export/home/curly bpool/export/home@12.25.11
C. bpool/export/home/ bpool/export/home/curly bpool@12.25.11

D. bpool/curly bpool/curly@12.25.11

E. bpool/curly

F. bpool/curly bpool@12.25.11

Correct Answer: A
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QUESTION 3

Identify two acceptable values for a element in a service manifest.
A. require_all

B. optional_all

C. optional_any

D. restart_on

E. none

Correct Answer: BD

QUESTION 4

Which two statements describe projects and/or tasks?

A. A task is a resource container for one process.

B. Project resource controls are evaluated before task resource controls.
C. Every user belongs to one or more projects.

D. Every task associates a project with a process.

E. A project is optional and not every user must belong to a project.

Correct Answer: CD

QUESTION 5

Your company wants to incorporate a legacy script that runs once during the boot cycle as an SMF service. What
appropriate setting for the duration attribute in the startd property group for this service?

A. transient
B. contract
C. wait
D. boot

Correct Answer: B
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